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QUESTION 1

vSAN identifies a dying disk. 

When is operator action required to provide data protection? 

A. when the cluster lacks resources 

B. when vSAN Health service is disabled 

C. when an object storage policy uses erasure coding 

D. when an object storage policy uses FTT=3 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

What is the minimum number of data nodes across all sites in a vSAN stretched cluster configuration with the above
storage policy? 

A. 4 

B. 6 

C. 8 

D. 9 

Correct Answer: B 

 

QUESTION 3

You are designing a vSAN stretched cluster solution. 

What is the maximum number of nodes possible for this solution? 

A. 15 per data site + 1 witness host 

B. 30 per data site + 1 witness host 
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C. 32 per data site + 1 witness host 

D. 64 per data site + 1 witness host 

Correct Answer: B 

Reference: https://storagehub.vmware.com/t/vmware-vsan/vmware-vsan-6-7-technical-overview/clustertypes-3/ 

 

QUESTION 4

An architect is asked to design a vSAN cluster with these requirements: -Supports erasure coding storage policy
-Minimized inaccessibility from single device failures -Ability to re-protect data after a failure The desired configuration
should be able to survive a single failure. 

Which configuration satisfies the design requirements? 

A. 3-node hybrid vSAN cluster 

B. 4-node hybrid vSAN cluster 

C. 4-node all-flash vSAN cluster 

D. 5-node all-flash vSAN cluster 

Correct Answer: C 

 

QUESTION 5

What are two reasons why a vCenter UI can show a Noncompliant status for a VM storage object? (Choose two.) 

A. The object is no longer fully compliant with the associated storage policy. 

B. A storage hardware failure has caused permanent data loss for the object. 

C. The VM storage compliance alarm has been triggered for that object. 

D. The object is not associated with a guest VM. 

E. The object is not associated with a storage policy. 

Correct Answer: AE 
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